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Part 1 — Compulsory Content (pages 2-15)

1. Watch the videos and complete the notes — you may consider adding flashcards /
condensed notes, so you can use them to test yourself (metacognition)

2. Complete the follow up application questions

3. Correct and improve the questions where available (mark scheme at the end of the
document)

This will be assessed in the initial assessment

Part 2 — Highly Recommended (pages 16-18)

This will be beneficial to you and help you succeed in your lessons.

Mark schemes (pages 19-31)



Compulsory content

Unit 1: Principles and Applications of Science |
Answer all the questions. There are links to websites which you may find helpful.
You will be given a test on these concepts at the start of the term.

This unit covers some of the key science concepts in biology, chemistry and physics.

This section looks at some of the chemistry concepts you have covered at GCSE and will cover in more
depth in Unit 1.

Periodicity and properties of elements

O Atomic Structure

https://www.bbc.co.uk/bitesize/guides/zwn8b82/revision/3 (pages 3,4 and 5)
https://phet.colorado.edu/sims/html/build-an-atom/latest/build-an-atom_en.html

Q1. Figure 1 shows an atom of element G.

Figure 1
Draw a ring around the correct answer to complete each
sentence.
(a) Label A shows
an electron anion anucleus 1)
(b) Label B shows
an isotope amolecule aneutron (1)
(c) The atomic number of element G is
5 6 10 11 16 )
(d) The mass number of element G is
5 6 10 11 16 1)

Q Periodic Table

https://www.bbc.co.uk/bitesize/guides/ztv797h/revision/2  (pages 2-8)
https://www.rsc.org/periodic-table/

Q2. The Periodic table below contains six errors. Highlight these.

H He
Li |Be B|C|N|O|Fl|Ne
Na Mg Al|Si| P | S|CL|Ar

Rb|Sr| Y Zr |Nb|Mo| Tc|Ru|Rh | pD|Ag|Cd|In|(Sn|Sb|Te| I |Xe
Cs |Ba|La|Hf | Ta| W |Re |Os|Ir|Pt AulHg| Tl |Pb|Bi|Po | At|Rn
Fr|Ra|Ac|Rf |Db| Sg|Bh|Hs Mt |Ds|Rg

(6)


https://www.bbc.co.uk/bitesize/guides/zwn8b82/revision/3
https://phet.colorado.edu/sims/html/build-an-atom/latest/build-an-atom_en.html
https://www.bbc.co.uk/bitesize/guides/ztv797h/revision/2
https://www.rsc.org/periodic-table/

Q3. Complete the labels on the diagram below using the following terms:

metals non-metals group period
Noble gases Alkaline-Earth metals Halogens Alkali metals
1.0 4.0
H < He
1 / nydrogen helium
Key 1 | 2
6.9 9.0 relative atomic mass 10.8 12.0 14.0 16.0 18.0 202
Li Be symbol B C N (e} F Ne
2 thinam berylum nams ooron caron nitrogen oxygen fluorine nean
3 4 atomic (proton) numbar 5 [:] P B 9 10
230 243 27.0 28.1 31.0 321 5.5 39.9
3 MNa Mg Al Si P s Cl Ar
sodium | magnesium ahuminium slhcon (phosphorus|  swfur chiring argon
11 12 (3) ) (5) (6) (7) (8) 9 (10 (11) (12 13 15 16 17 18
39.1 40.1 45.0 47.9 50.9 52.0 549 55.8 589 0.7 B35 65.4 Ba.7 P26 74.9 79.0 79.9 3.8
K Ca Sc Ti v Cr Mn Fe Co Ni Cu Zn Ga Ge As Se Br Kr
4 potassium calcum scandum titanium vanadum | chromium manganass ron cobalt MaCHed CODpe znc gasum gerrna'lium arssnmic Sedensum Dromans krypion
19 20 A 22 23 24 25 26 27 28 29 30 3 3z 33 34 35 36
85.5 876 88.9 9.2 92.9 96.0 [_?_3] 1014 1029 106.4 107.9 112.4 114.8 118.7 121.8 1276 126.9 131.3
Rb Sr Y Zr Nb Mo c Ru Rh Pd Ag Cd In n Sb Te | Xe
5 rubidium | strontium yttrium zirconium | miobium | maybdenum | technetium | ruthenum | rhodium | pafiadium aiver cadmium ncdium tin antimony | Elusum woding HEMDN
a7 38 30 40 4 42 43 44 45 45 47 48 49 50 51 53 53 54
132.9 137.3 138.9 178.5 180.9 183.8 186.2 1902 1922 195.1 197.0 200.6 204.4 2072 209.0 [20g] [210] [222]
6 Cs Ba La* Hf Ta w Re Os Ir Pt Au Hg Tl Pb Bi Po At Rn
Cassum Danum lanthanum hafnium tantalum tungsten mensum ogmium ricium plat num @d mercury thallum sad biamuth PORON UM astatine radon
55 56 af 2 73 74 75 =] i 78 ] 80 81 82 84 86
[223] [22d] 227] [267] [2648] [71] 274 [270] [276] 281] [2a0]
7 Fr Ra c Rf Db Sg Bh Hs Mt Ds Rg Elements with atomic numbers 112-116 have bden raportad but
francium radium actinium  |nheriomium | dubnium  |sesborgium | bonrium hassium | meitnerium | demsadium | mantganium nat fully authenticated
B 88 89 104 105 106 107 108 109 110 111
—>
number

Q4. Read the information
follow.

®

below on element X carefully. Use this to help you answer the questions which

Element X has two different isotopes, both of which contain 17 protons. The least abundant
isotope contains 20 neutrons. The second isotope is three time more abundant and contains
2 more neutrons. All the atoms contain 2 electrons in the first shell, 8 electrons in the second

shell and 7 electrons in the third.

(a) Where in the Periodic Table is element X found:

Group: ...coiiiiiii Period: ..o
(b) Use the Periodic Table in Q3. the key and your answer to Q4.(a) to complete Figure 2. for
element X
Key
A ||
Sym bol | | ...
name
Z ...............

(c) Is element X a metal or non-metal? ...

(d) Identify an element, in the same group as X, which has a lower boiling point than X.

)

4




Q5.

Chemical reactions and equations

https://www.bbc.co.uk/bitesize/guides/zy4pmsg/revision/l  (pages 1-6)
https://www.bbc.co.uk/bitesize/guides/z2bfxfr/revision/1 (pages 1,2)

Equations are used to show chemical reactions.
Reactants are written on the left of the arrow and products are written on the right.

For example:
ethane + oxygen - carbondioxide + water (word equation)
C2Hs o7} CO: H20

H H

=
=z

Atoms cannot be created or destroyed. They are simply rearranged. Therefore, the equation with
formulae needs balancing. (You can only add more of the same molecules. You cannot change the
formula of any.)

2C2He + 702 > 4CO; + 6H20 (balanced equation)
1) Cu L L ®: @ o
K “ M) oo ®: ® o
s R ®:-® "."
IROION P ® @ @
2 o & oo @,
®*® (o

The relative formula mass of a molecule/compound (M) can be calculated by adding the A, of all the
atoms it contains. The A, value for all elements can be found in the Periodic Table.

Arof Cis 12.0, Arof His 1.0 and Ar of O is 16.0

M; of CoHs = (2 x 12.0) + (6 x 1.0) = 30.0 M: of O, = (2 x 16.0) = 32.0

M; of CO, = 12.0 + (2 x 16.0) = 44.0 M of H,O = (2 x 1.0) + 16.0 = 18.0
The total mass of the reactants = the total mass of the products

Mass of reactants = (2 X M; CaHg) + (7 X My O2) = (2 x 30.0) + (7 x 32.0) = 284.0

Mass of products = (4 x M; CO) + (6 X M; H20) = (4 x 44.0) + (6 x 18.0) = 284.0

Lithium reacts with water to form lithium hydroxide and hydrogen.

(a) Balance the symbol equation for this reaction
...... Li(s) + .......H0() - ........LIOH(aq) + H2(g)

(b) (i) Complete the table below for this reaction

Reactant or product State M;
Lithium
Water reactant liquid 18.0
Lithium hydroxide
Hydrogen

(i) Calculate the total mass of the reactants. Are these the same as the total mass of the products?

Show your workings.


https://www.bbc.co.uk/bitesize/guides/zy4pmsg/revision/1
https://www.bbc.co.uk/bitesize/guides/z2bfxfr/revision/1

d Bonding

Chemical reactions involve the breaking and making of bonds. This involves electrons being

transferred or shared between atoms.

The total number of electrons at the end of the reaction must be the same as at the start.
Metal atoms lose electrons and form positively charged ions.
Non-metal atoms gain electrons and form negatively charged ions

OR by sharing them (in pairs) with another non-metal atom

https://www.bbc.co.uk/bitesize/topics/z33rrwx  (ionic compounds, small molecules, metals and alloys)

How do you know which type of bonding is present in an element or compound? Consider the type of
element(s) it contains:

Non-metalo
I

lonic

®O

Covalent

)

There is an electrostatic
attraction between the
positive ions and the
delocalised electrons.

There is an electrostatic
attraction between the
positive ions and the
negative ions.

There is an electrostatic
attraction between the

positive nucleus and the
shared pair of electrons.

Q6. The electronic structure of a potassium atom is 2,8,8,1
Draw a diagram to show the electronic structure of a potassium ion. Show the charge on the ion.

Q7. Complete the dot and cross diagram to show the electrons in the outer shells of ammonia, NHs.

Use the periodic table to help you.
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https://www.bbc.co.uk/bitesize/topics/z33rrwx

Q8. The diagrams shown an atom of magnesium and an atom of chlorine.
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Magnesium Chlorine

Describe, in terms of electrons, how magnesium atoms and chlorine atoms change into ions to produce
Magnesium chloride, MgCls.
You may draw labelled diagrams.



Unit 2: Practical Scientific Procedures and Techniques

In this unit you will be required to complete a lot of practical procedures and so it is important that you know
about laboratory safety.

U Laboratory Safety

e Watch the video on safety in the laboratory:
https://www.youtube.com/watch?v=RhIOYhOvCsQ

Use this to complete a list of safety rules to follow when completing any experiment.



https://www.youtube.com/watch?v=RhlOYhOvCsQ

You will be using a number of different chemicals and apparatus when completing these experiments.
¢ Follow the instructions provided to complete the table below on hazard symbols
i) Match the old hazard symbol to the new symbol.

i) Match the new hazard symbol to the hazard name.
https://www.acs.org/content/dam/acsorg/about/governance/committees/chemicalsafety/publicati

ons/acs-secondary-safety-quidelines.pdf  (page 22 and 23)

iii) List the precautions which should be taken (in addition to wearing a labcoat and safety glasses)
when handling chemicals with these hazards to minimise the chance of an accident occurring.
https://www.acs.org/content/dam/acsorg/about/governance/committees/chemicalsafety/publicati
ons/acs-secondary-safety-quidelines.pdf  (pages 38-40)

Oold New Name Precautions

harmful /
irritant

oxidising
agent

flammable

harmful to
the
environment

corrosive

toxic

(19)



https://www.acs.org/content/dam/acsorg/about/governance/committees/chemicalsafety/publications/acs-secondary-safety-guidelines.pdf
https://www.acs.org/content/dam/acsorg/about/governance/committees/chemicalsafety/publications/acs-secondary-safety-guidelines.pdf
https://www.acs.org/content/dam/acsorg/about/governance/committees/chemicalsafety/publications/acs-secondary-safety-guidelines.pdf
https://www.acs.org/content/dam/acsorg/about/governance/committees/chemicalsafety/publications/acs-secondary-safety-guidelines.pdf

U Practical techniques

One of the practical techniques you will need to complete is the preparation of a standard solution and
performing a titration to test the solution you have prepared.

o Waitch these videos to help you answer the questions
https://www.youtube.com/watch?v=xBKyjXUhJy0
https://www.youtube.com/watch?v=rLc148UCT2w
https://www.youtube.com/watch?v=gzvzvDv_BnA

Q1. () Whatis a standard SOIULION? ... e

(b) The diagram below shows the apparatus used to make a standard solution of sodium carbonate.
Complete the labels. 7

//

|

Na,COs(aq)

[ [
250 cm?

(c) The standard solution prepared can be used to find the concentration of a solution of hydrochloric

acid.
Figure 2.
+— NaxCOs(aq) 2 24
burette
[
]
3 25
25.0 cm?3 HCI(aq) strt e
+ 3 drops methyl orange
() Complete the label to show name of the apparatus in which the acid is placed. 1)
(i) What is the name given to this procedure? ... 1)

(iii)  Figure 2. shows the level of the sodium carbonate solution in the burette at the start and
the end of one titration. Use these to work out the volume of sodium carbonate added in the
titration. Give your answer to 2 d.p.

Volume NaxCOs(ag)added = ...........cceeennee. cm? (1)
9


https://www.youtube.com/watch?v=xBKyjXUhJy0
https://www.youtube.com/watch?v=rLc148UCT2w
https://www.youtube.com/watch?v=gzvzvDv_BnA

Another practical technique you will need to complete is chromatography.

o The links below may help you to answer the questions on this technique.
https://www.youtube.com/watch?v=lj50WzhZSac
https://www.bbc.co.uk/bitesize/quides/z9dfxfr/revision/4

Q2. (a) What is chromatography USEd fOr? ... e
...................................................................................................................................... 1)
(b) A student used paper chromatography to analyse a black food colouring. They placed spots of

known food colours, A, B, C, D and E and the black food colouring on a sheet of chromatography
paper. They set up the apparatus as shown in Diagram 1.
Diagram 1
| l - Lid
—+——+— Chromatography
paper
o — | Solvent
A 8 ¢ ° . N~ Start line
drawn in ink
~ Black food
colouring
The student made two errors in setting up the apparatus. Identify the two errors and describe the
problem each error would cause.
................................................................................................................................. 4)

(c) A different student set up the apparatus without making any errors. The chromatogram in Diagram
2. shows the student’s results.

Diagram 2
- Solvent front
B
0

0 C

|~ Start line
A B c D E ~I_

~ Black food

colouring

(i) What do the results tell you about the composition of the black food colouring?


https://www.youtube.com/watch?v=lj5OWzhZSac
https://www.bbc.co.uk/bitesize/guides/z9dfxfr/revision/4

(i) Use Diagram 2. to complete Table 1. 2
Table 1.

Distance in mm

Distance from start line to solvent front

Distance moved by food colour C

(iii) Use your answers in (c)(ii) to calculate the R value for food colour C. Show your workings.

Rivalue= ............oool. 1)

(iv) Table 2. gives the results of chromatography experiments that were carried out on some known
food colours, using the same solvent as the students.

Table 2.
Distance from start line to Distance moved by food
Name of food colour . ) R value
solvent front in mm colour in mm
Ponceau 4R 62 59 0.95
Carmoisine 74 45 0.61
Fast red 67 27 0.40
Erythrosine 58 17 0.29

Which of the food colours in Table 2. could be food colour C from the chromatogram? Give the
reason for your answer.

11



U Obtaining and analysing results obtained in an experiment

It is important to keep a record of all data whilst carrying out practical work. It is good practice to draw a
table before starting the experiment and then enter results straight into the table.

Tables should have clear headings with units.

Time Temperature
/ min /°C

0 27.6

1 27.4

2 27.2

The independent variable is the left-hand column in a table, with the following columns showing the
dependent variables. All measurements should be written to the same number of decimal places (matching
the precision of the measuring instrument).

https://www.bbc.co.uk/bitesize/quides/zcxp6yc/revision/1
https://www.bbc.co.uk/bitesize/quides/zcxpbyc/revision/6

Q3. A student was told to complete a practical to investigate how temperature affects the rate of a
reaction. The student carried out the reaction at five different temperatures and recorded the time
taken for each.

The student then calculated the rate of reaction, in s for each experiment using the equation:
rate of reaction =_1
time

The student’s results and calculations are shown below:

at 24.5 °C the experbment took 340 secondls /240 = 0.0029 57!
at 29.0 °C it took 256 sec /256 = 0.0039 s
at 52.0 °C the experment took 124 s /124 = 0.0021 &'
20.5°C 62 s ez = o.0lel
51°C g6 s /186 = 0.0054

(@) What is the independent variable in this experiment? Circle the correct answer
rate of reaction time temperature (1)

(b) Tabulate the student’s data in an appropriate manner. (4)

12


https://www.bbc.co.uk/bitesize/guides/zcxp6yc/revision/1
https://www.bbc.co.uk/bitesize/guides/zcxp6yc/revision/6

https://www.bbc.co.uk/bitesize/guides/z8fqbyc/revision/8

Drawing a graph of the results obtained usually makes it easier to interpret the data and draw conclusions.
The independent variable is shown on the x-axis and the dependent variable is shown on the y-axis.
Axes should always be labelled with the quantity being measured and the units.

0 T T T T T T
0 20 40 60 80 100
time / seconds
Data points should be marked with a cross, x.

When choosing the scales consider:

. the maximum and minimum values of each variable.

. whether 0,0 should be included as a data point.

° how to draw the axes without using difficult scale markings (e.g. multiples of 3, 7, etc)
o the data points should cover at least half of the grid supplied for the graph.

35

30

25

20

15

10

a
0 20 40 60 80 100

Consider the following when deciding where to draw a line of best fit:

. the line can be straight or curved

. the line should pass through, or very close to, the majority of plotted points (ignoring any anomalous
points)

. for points not on the line make sure that there are as many points on one side of the line as the other

o the line should be continuous and drawn with a sharp pencil (use a rule for a straight line)

. the line will go through the origin (0,0) if a value of 0 for the independent variable would produce a
value of 0 for the dependent variable

13


https://www.bbc.co.uk/bitesize/guides/z8fq6yc/revision/8

Q4. A student investigated how the temperature of a metal block changed with time.
An electric heater was used to increase the temperature of the block.
The heater was place in a hole drilled in the block as shown in Figure 1.

Figure 9
e The student measured the temperature of the metal

block every 60 seconds. Table 3. shows the
student’s results.

~— Thermometer Tab I e 3

" Timeins Temperature in °C
i 0 20.0
Electric heater — 60 24 5
~— Insulation 120 29.0
Metal block — 180 310
240 31.5

_Heat-resistant mat
/

(a) Complete the graph of the data from Table 3. on Figure 2.
e Choose a suitable scale for the x-axis.
e Label the x-axis and label the y-axis.
e Plot the student’s results.
e Draw a line of best fit. (5)
Figure 2.

32+

30+

28

26+

241

22

20

(b) Use the graph to find the temperature of the metal block at time 100 s.
Temperature at 100s = .............. °C (1)

14



(c) The rate of change of temperature of the block is given by the gradient of the graph.
Determine the gradient of the graph over the first 60 seconds.

PTO for highly recommended content

15



Highly recommended content

Make notes from the following resources, then have a go at completing the questions

Titrations and mole calculations

https://www.bbc.co.uk/bitesize/quides/zx98pbk/revision/3

https://www.youtube.com/watch?v=wPGVQu3UXpw

https://www.youtube.com/watch?v=0vx-Sro4NXM

Q1.This question is about acids and alkalis.
(a) Dilute hydrochloric acid is a strong acid.

Explain why an acid can be described as both strong and dilute.

&)

A student titrated 25.0 cm3 portions of dilute sulfuric acid with a 0.105 mol/dm?3 sodium
hydroxide solution.

(c) The table below shows the student’s results.

Titration Titration Titration Titration Titration
1 2 3 4 5
Volume of
sodium
hydroxide 23.50 21.10 22.10 22.15 22.15
solution in
cm?3

The equation for the reaction is:
2 NaOH + H2:SO4 — Naz:S0O4 + 2 H.0
Calculate the concentration of the sulfuric acid in mol/dms3

16


https://www.bbc.co.uk/bitesize/guides/zx98pbk/revision/3
https://www.youtube.com/watch?v=wPGVQu3UXpw
https://www.youtube.com/watch?v=ovx-Sro4NXM

Use only the student’s concordant results.

Concordant results are those within 0.10 cm3 of each other.

Concentration of sulfuric acid = mol/dms3

®)

(d) Explain why the student should use a pipette to measure the dilute sulfuric acid and a
burette to measure the sodium hydroxide solution.

2
(e) Calculate the mass of sodium hydroxide in 30.0 cm3 of a 0.105 mol/dm? solution.

Relative formula mass (M;): NaOH =40

Mass of sodium hydroxide = g

2
(Total 12 marks)

17



Q2. A student investigated the reactions of copper carbonate and copper oxide with dilute hydrochloric
acid.

In both reactions one of the products is copper chloride.

(@) Describe how a sample of copper chloride crystals could be made from copper carbonate
and dilute hydrochloric acid.

4

(b) A student wanted to make 11.0 g of copper chloride.
The equation for the reaction is:
CuCOs + 2HCI — CuClz + H20 + CO:>
Relative atomic masses, A H=1; C=12; O =16; Cl =35.5; Cu=63.5

Calculate the mass of copper carbonate the student should react with dilute hydrochloric
acid to make 11.0 g of copper chloride.

Mass of copper carbonate = g

4)
(c) The percentage yield of copper chloride was 79.1 %.

Calculate the mass of copper chloride the student actually produced.

Actual mass of copper chloride produced = g

)

18



Mark Scheme

Periodicity and properties of elements

O Atomic Structure

https://www.bbc.co.uk/bitesize/quides/zwn8b82/revision/3 (pages 3,4 and 5)
https://phet.colorado.edu/sims/html/build-an-atom/latest/build-an-atom _en.html

Q1. Figure 1 shows an atom of element G.
Figure 1

Draw a ring around the correct answer to complete each
sentence.

(a) Label A shows

an ion a nucleus
(b) Label B shows

an isotope a molecule

(c) The atomic number of element G is

Gy 6 10 11 16 = s o
Y CAAS
(d) The mass number of element G is B
5 6 10 (1) 16 S Retons + bvasdrans

O Periodic Table

https://www.bbc.co.uk/bitesize/quides/ztv797h/revision/2  (pages 2-8)
https://www.rsc.org/periodic-table/

Q2. The Periodic table below contains six errors. Highlight these.

CATAL
H He k,.,?eqf&‘
Li |Be B|C|N|O|Fl|Ne
Na|Mg Al|Si|P|S|CL|Ar
K|Ca|Sc|Ti| V|Cr|Mn|fe|CO|Ni|Cu|Zn|6a|Ge|As|Se|Br|Kr
Rb|Sr| Y |Zr|Nb(Mo|Tc|Ru|Rh|pD|Ag|Cd|In|Sn|Sb|Te| I |Xe
Cs|Ba Hf | Ta| W |Re |Os|Ir|Pt|Au|Hg| Tl |Pb| Bi|Po|At|Rn
Fr|Ra|Ac|Rf |Db|Sg|Bh|Hs|Mt|Ds|Rg

19
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(1)

(1)
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(6)



Q3. Complete the labels on the diagram below using the following terms:

metals non-metals group period
Noble gases Alkaline-Earth metals Halogens Alkali metals
kol . ' ' ke umber
MV\Q '&l‘%
1 2 atds 3 4 5 8 .7 \40 4—]
1 / nydrogen = rem
Key 1 [ribevey 4% e Sl 2
6.0 90 rouibve domc mass 108 12.0 wo 8.0 | 34 2
U | Be symbol feirods 8 ¢ N | o ¥ Ne
2 e oy e Doon anon | neogen | owypen torre "eon
3 4 @ome {prolon) number ) 3 7 8 9 10
220 243 200 281 N0 21 »s 139
3 nl:n Mg Al Si P s c Ar
> o J
wl2le ®w 6 _® @ ® @ (9 @) 2 [T e e |
kAl 401 450 a9 509 520 549 1Y) Su9 w/ 83 ana -/ e 49 no me s
K Ca Sc T v Cr Mn Fe Co Ni Zn Ga Ge Se Br Kr
4 oxam o~ b S scand "nmes anadu™ | v TREQATe- on E Al oo e F Lo renc - DOMNe “yoon
19 0 Pl 22 23 2 25 2 r 4 28 20 30 n prd 34 35 36
s LIE 889 92 92 90 e w0 s wss wre 124 148 nay 1218 1278 1269 1213
5 S Y Zr Nb Mo Te Ru Rh Pd Ag Cd Sn Sb Te 1 Xe
LX) motu~ yorum Ao fNOOU™ | mEtaent | echetum | AN —adm e L cad o~ L 2} Aoy L VoV adre N
b1 k) k] 40 41 42 &3 L 45 46 &l 4B &y 50 St $3 54
1329 1273 1509 1788 09 = 1882 1902 =2 6 197.0 2008 2064 2012 2090 Rog| 1] ﬁ‘
6 Cs Ba La* Hi Ta w Re Os Ir Pt Au Hg mn Pb Bi Po At
caet oatum  [aeum | natvum | memaee | magmen | meaus | oemam ~u- EL LVl o oy | masgm was oamuer | poonam § samene madon
55 56 57 2 73 74 75 % 4 L 9 80 L) "2 -4 84 25 [ ]
229 229 227) [2en [288] RN 273 2 grel pa1) »ao|
7 Fr Ra ﬁ t R Db Sg Bh Hs Mt Ds Rg Eloments with stonic numbes 112-116 have bin reporked bt
tanour | wdu Kt dov— oarum | ssssur | metenu | aereadian | cempeun) net iully suthentcated
a8 L] 1] 104 108 108 17 ) 108 10 m
T —p
Aad MCAA —
number maskods (8)

Q4. Read the information below on element X carefully. Use this to help you answer the questions which

follow.

Element X has two different isotopes, both of which contain 17 protons. The least abundant
isotope contains 20 neutrons. The second isotope is three time more abundant and contains
2 more neutrons. All the atoms contain 2 electrons in the first shell, 8 electrons in the second
shell and 7 electrons in the third.

(a) Where in the Periodic Table is element X found:

Group: ....... L Period: ...... % PR e (2)
(b) Use the Periodic Table in Q3. the key and your answer to Q4.(a) to complete Figure 2. for
element X
Key 25.5
A,
Symbol £L.
name .
Z Clalesing..
AR @
(c) Is element X a metal or non-metal? ........ (LY VY- o) 1)

(d) Identify an element, in the same group as X, which has a lower boiling point.

........ T O W T RS L e [ N ST S|
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Q5. Lithium reacts with water to form lithium hydroxide and hydrogen.
(a) Balance the symbol equation for this reaction

LA Li(s) + ...4 H0() > ..Z4...LiOH(aq) + Hz(g) )
(b) (i) Complete the table below for this reaction (8)
Reactant or product State I
Lithium reoackauX sasd Aot s A 530
Water reactant liquid 18 0
Lithium hydroxide prodiack eQuocus (0o 23 .9
Hydrogen erndiatk "am 20
(ii) Calculate the total mass of the reactants. Are these the same as the total mass of the products?
Show your workings.
L2k 80). A (X NBC). 2. EUE ... reh naRS. 04 PO e, ().
..(Z..X..23.»3'\).3:..2»0..F..‘.f.‘.h&...m}uk.vuw..ﬁg-..m:.dud;....:....‘1«;.,..?\4%.} ot Aok, Souns. ) @)
Q6. The electronic structure of a potassium atom is 2,8,8,1 _losy Ae | ader 7

Draw a diagram to show the electronic structure of a potassium ion. ion. Show the charge on the ion.

(x):

+

)

.

Q)

(2)
Q7. Complete the dot and cross diagram to show the electrons in the outer shells of ammonia, NH.
Use the periodic table to help you.

X (l)
0

@
\
I
)
z
o
/
/
L Uy

*
S X

J'b\uf\v:j 3 ?Ou/\)' (\)

5 ®
) ),(,f“.’

(2)
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Q8. The diagrams shown an atom of magnesium and an atom of chlorine.

S s N S e N\
x \ -
H @ -3 LR [ ] HH
» WU
L1 -
3 .o
Magnesium Chilorine

Describe, in terms of electrons, how magnesium atoms and chlorine atoms change into ions to produce
Magnesium chloride, MgCl..
You may draw labelled diagrams.

0 (u)
..... QMWW\O&Q&[.@’(‘OMQ\A‘%
o ) A E)
...... LA W Lo Y Tl O O it WL o Pttt SU R Wi SRR . ) 5 MR .
...... MS (,o{wﬂ/w. z*xmwwc\fwmaa‘iw

.........................................................................................................................................

Unit 2: Practical Scientific Procedures and Techniques

In this unit you will be required to complete a lot of practical procedures and so it is important that you know
about laboratory safety.

O Laboratory Safety

» Watch the video on safety in the laboratory:
https://www.youtube .com/watch?v=RhiIOYhOvCsQ

Use this to complete a list of safety rules to follow when completing any experiment.

b B
2, ..Wﬁn&i..&ﬁx{&)cjéw./ﬁ:j?mq ...................................................................................
3. ..Iw..mCLL.L@e\?.'Lnov.(...t.pm%c»i.cu(\\.ﬂ..meM.hjo.e}.ﬁmm\iem.\ammf..) .......................
4. Wh&&ﬂ&uwmm(mamdmxwm+L»0.prcmhco.\) .......................
5 tw.?mwa%a.a ...............................................................................................
6. . IANQR AR SRNRAGEL oot
% ..Do..n(Pt...esz'...(nf.Adwk...(&.cmyxﬂ.)..mm.lmkz ..........................................
8. WC\A\Avmlﬂmm\n(pwf\\wmjchre:)mmkw’fwk@) .....................

8)
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Precautions

harmful /
/ irritant

e o 6\&-6(
wﬁ),-v-eu’({lﬁ}ﬁi (edacrod t«g

No valed (qx,w) t&o.w»k
N[+ O

SES AN

\

oxidising o Sowvia of \jw
agent :
NC naled (cr@\-\) HO-W\Q
\ flammable | ¢ S&v <t Of }jw‘*‘c‘”
harmfulto | DAY pov Ao At
the Siule
/environment
wWeou S\O\ref
corrosive
\Weas 6\0vfl
| __toxic

Az o frasans w‘f\'xlmxl
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O Practical techniques

One of the practical techniques you will need to complete is the preparation of a standard solution and
performing a titration to test the solution you have prepared.

Watch these videos to help you answer the questions
https://www.youtube.com/watch?v=xBKyjXUhJy0
https://www.youtube.com/watch?v=rLc148UCT2w
https://www.youtube.com/watch?v=gzvzvDv_BnA

Q1. (a) What is a standard solution? ....tt...\.S../&..J.'chﬁ.oM..q,..(.a.Lw a)fkv)%%v ...............

B - VX P g R O e T PRI 1)
(b) The diagram below shows the apparatus used to make a standard solution of sodium carbonate.
Complete the labels. )
P wwwaed
Aisis\he o
wot® (u ,\/ﬂ\
wosta \Wottle >/ v/
/
e \c)\,\;w \ \ Veluwwnohac
‘00 ok Na,CO,(s) ?\ oSl
WG4 G - . — e
s/
b ¢ e okt
\ -l
‘DCL\LUL/ j aer e /
Shrres

(c) The standard solution prepared can be used to find the concentration of a solution of hydrochloric
acid.

; Figure 2.
NazCOs(aq) 2 2
burette 235
4 24.50
I Coniiced (losk
/! ‘\ 3 2%
/\ _25.0 cm®HCl(aq) o 2
L é‘ + 3 drops methyl orange
(i) Complete the label to show name of the apparatus in which the acid is placed. (1)
(i)  What is the name given to this procedure? ... 0Ny i B ivivieeeeeeee e g}

(iii)  Figure 2. shows the level of the sodium carbonate solution in the burette at the start and
the end of one titration. Use these to work out the volume of sodium carbonate added in the
titration. Give your answer to 2 d.p.

2450 =833 Volume Na;COs(aq) added = ...22 . \5......... cm® (1)

8 Z nwntoess apte/
e dovnak pc:“‘L
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2 N A o S B R B A S e S T S T 1)

(b) A student used paper chromatography to analyse a black food colouring. They placed spots of
known food colours, A, B, C, D and E and the black food colouring on a sheet of chromatography
paper. They set up the apparatus as shown in Diagram 1.

Diagram 1

A 8 c D E NP
. Start kne
—— _————— I | drawnmmnk
Black food
colounng

The student made two errors in setting up the apparatus. Identify the two errors and describe the
problem each error would cause.

.S}(AP* e s A A et eseeeseseneseseseneesenseneneaens O,
. ...J.Q.'.x‘f...N.\\):..(Mw.}.all&solxﬁ.x\a.m..mbaﬁu& .................................... [0
o Solvenk. adaoe. da. st g, /.(pa%..mf.\.&./ Has. . dolveank......... (1) (PS——
........... K “Aﬁ:} i waan .o leg, P . ik sl Haedol\veink. . {U).....

.....................................................................................................................................

(c) A different student set up the apparatus without making any errors. The chromatogram in Diagram
2. shows the student’s resuits.

Diagram 2
~ — . Solvent front
¢
o ‘ :
@ )
Stant line
A B € D E
‘ Black food
: colouring
(i) What do the results tell you about the composition of the black food colouring?
Lo, Wadk. e, LdeQMqNAME .............. 2
.............. MCMQM(WWHM\A)SM\&A&([)(Z)
9
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(i) Use Diagram 2. to complete Table 1. (2)

Table 1.
Distance in mm
Distance from start line to solvent front 28,5 )29
Distance moved by food colour C Joa (1 -12

(iii) Use your answers in (c)(ii) to calculate the R value for food colour C. Show your workings.
dstanace meved b~ €
distance prows St Lva o Jdveuk prowk

(iv) Table 2. gives the results of chromatography experiments that were carried out on some known
food colours, using the same solvent as the students.

Table 2.
Name of food calour | Dlence o et e o | et ey " | Rovae
Ponceau 4R 62 59 0.95
Carmoisine 74 45 0.61
Fast red 67 27 0.40
Erythrosine 58 17 0.29

Which of the food colours in Table 2. could be food colour C from the chromatogram? Give the
reason for your answer.

........ Fatb 0. h i st AN XNON s vt ossisisssia i
........ \/\M‘Lavw)lu&vJS\M\wQ{.b)\\pﬂ(,w)t\favw:»wmn?
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Q3. A student was told to complete a practical to investigate how temperature affects the rate of a

reaction. The student carried out the reaction at five different temperatures and recorded the time

taken for each.

The student then calculated the rate of reaction, in s*' for each experiment using the equation:
rate of reaction = _1

time
The student's results and calculations are shown below:
at 24.5 °C the experiment took 340 seconds 17240 = 0.0029 5"
at 29.0 °C it took 256 séc 17256 = 0.0039 s
at 58.0 °C the experiment took 124 < /124 = 0.0081 s
g0.5°C 625 /62 = o0.06!
s1°C g6 s /126 == D.0054

(a) What is the independent variable in this experiment? Circle the correct answer

rate of reaction time (!emporature)

(b) Tabulate the student’s data in an appropriate manner.

(M
(4)

¥enapecabat®........ 1. 6. T~ 10 Ve SO Focuders (ais. . eachoa... /.. 47"
JLs) 340 0.0029
371.0 256 0.0039
$1.0 \FC 0. 005Y
§g.0 (24 0.00F!
fo.§ 62 0.016|

cowe tk l/\.rec\cl,\»g! (u)

warts v \/\nmh\‘j: (LA‘ (:)
ALY +e,w10e/am.~fn varttentv Ld.p ()

W/cd\mf'» witem M crdes of InCrean vy S12€ (‘)
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el FO\\AB
v .

fﬂd’l-e ('\
N
r Cunve of ek pit
e 0)
0
0 " o ) )
ih-6. .0 0o \80 20 ()
cerennrenennenennnneendaMAEL LS lvwk.in ) ()
(b) Use the graph to find the temperature of the metal block at time 100 s.
MAth Aatcha L\*W‘e/ W duepoin . Temperature at 100s = 203...°C (1)
13 wake o ldp fo vvedde
PT‘PCJIS%O\A M tedo
(c) The rate of change of temperature of the block is given by the gradient of the graph.
Determine the gradient of the graph over the first 60 seconds.
"\4’»('0 ........... : ....... O‘{'l(,‘) ....................................................................
........ ARl O ) OO
Gradient = ....... (/88,3 IO °C/s(2)

28



Highly recommended content

Q1.
(@)

(€)

(strong because) completely ionised (in aqueous solution)
ignore pH
allow dissociated for ionised

do not accept hydrogen is ionising
do not accept H* are ionised

(dilute because) small amount of acid per unit volume
ignore low concentration

(titre):
chooses titrations 3, 4, 5

average titre = 22.13 (cm?)

allow average titre = 22.13(3...) (cmd)
allow a correctly calculated average from an incorrect
choice of titrations

(calculation):

(moles NaOH =

22:43

— —x0.105 =0.002324)
1000

allow use of incorrect average titre from step 2

(moles H2SO0.4 =
% x 0.002324 =) 0.001162

allow use of incorrect number of moles from step 3

(concentration =
0.001162 4 o)
5
= 0.0465 (mol/dms3)
allow use of incorrect number of moles from step 4

alternative approach for step 3, step 4 and step 5

2 _ 2213x0.105 (1)
1 25.0xconc. H,SOy

(concentration H,SO4 =)
22.13%0.105

25.0%2
= 0.0465 (mol/dm?3) (1)

an answer of 0.046473 or 0.04648 correctly rounded
to at least 2 sig figs scores marking points 3, 4 and 5

an answer of 0.092946 or 0.09296 or 0.185892 or
0.18592 correctly rounded to at least 2 sig figs scores

29



Q2.

(d)

(€)

(@)

(b)

marking points 3 and 5

an incorrect answer for one step does not prevent
allocation of marks for subsequent steps

pipette measures a fixed volume (accurately)

(but) burette measures variable volume
allow can measure drop by drop

30
(moles=)——x0.105
1000
or 0.00315 (mol)

or
(mass per dm3 =) 0.105 x 40
or 4.2 (9)

(mass = i x0.105 x 40)
1000

=0.126 (g)

an answer of 0.126 (g) scores 2 marks
an answer of 126(g) scores 1 mark

an incorrect answer for one step does not prevent
allocation of marks for subsequent steps

add excess copper carbonate (to dilute hydrochloric acid)

accept alternatives to excess, such as ‘until no more reacts

filter (to remove excess copper carbonate)
reject heat until dry

heat filtrate to evaporate some water or heat to point of crystallisation
accept leave to evaporate or leave in evaporating basin

leave to cool (so crystals form)
until crystals form

must be in correct order to gain 4 marks

M: CuClz = 134.5
correct answer scores 4 marks

moles copper chloride = (mass/ M: = 11/ 134.5) = 0.0817843866

30
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Mr CuCOs= 123.5

Mass CuCOs (=moles x M2= 0.08178 x 123.5) = 10.1(00)

accept 10.1 with no working shown for 4 marks

791 =110
() 100

or

11.0 x 0.791

8.70 (9)

accept 8.70(g) with no working shown for 2 marks
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